XE (wH )

A" a= 201422004+ 20132204 o
= (A-8) ¢ &=
a & = ssasy | USR8 | YR () ssasy | oizay | YR ey
e 0| 4061318 0 4061318 |  3.978.636 0 0 3,978,636 82,682
géog¢ o| 2.396.164 0 2.396,164 | 2,206,401 0 0 2,296,401 99,763
gggoq o| 1.139.358 0 1,139,358 | 1,112,546 0 0 1,112,546 26,812
CEEEEL 833.821.000
Y EYDY 22(|E) 22,040,060+182 396,721,000
QB HYD ADHI(IIE) 18,900,000 18 340,200,000
U HY D SAKISHI(OIE) 475,000 +1724+12% 96,900,000
CEEREEL 32,531,000
SEEE 1,315,920 +12+1 22 15,791,000
SRR 380,00081%124+128 4,560,000
EEEPUVE! 1,606,000/ +12+62] 10,176,000
R A(DEH, 22 2,004,00021 %12 2,004,000
WOl DAl 273.006.000
2oFz D 12yl 35,715,850 20+72 250,011,000
2oHz DY Sl 3,285,0008+7% 22,995,000
ZoFg D IAbI(AL) 34,588,800+12 0
Yo DY B2HI(AY) 3,285,000+1 2 0
gggmg 0 416,913 0 416,913 407,940 0 0 407,940 8,973
WD A2 416,913,000
UBIFI DR A0S (IE) 23.161,83021%182 416,913,000
iz 0 243,814 0 243,814 227,291 0 0 227,291 16,523
WRE KA 243,814,000
San BT aUIE SRS 47 00z1en 93,132,000
HE BNy 40,0009 %2122 9,600,000
Hee, sen 300,000 #5881 28 18,000,000
iﬁggfggiﬁ’%g ATEE B 500,00021458128 12,000,000
CIRLLASTTAR AR R TR 400 000aea 2w 7,200,000
QBEADA TS EZOIE) 15,800,00081%1 15,800,000
A EHYDY ZDA0 2 27,0008 +67 Al 21305 54,270,000
ZYDH U ZYHAUA 500,0008+12+122) 6,000,000
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XE (wH )

AB U= 201422004+ 20132204 o
HSE | L= TESTET] (A-B) &&=
g g SE38A EIQJII_‘ ;D‘i EHAI(A) SE38A JIZ3A TJ{ B (B)
EETS! 27,002,000 3] 27,002,000
Ao EL DY EDACI2(2HOIH) 27,00081%1 A2+ 1555281 ] 810,000
A, 0 158,136 0 158,136 155,347 0 0 155,347 2,789
CEPEE 64,277,600
DY ED AEeIZ BERED 1,422,640,00021+0.07+0.6 59,751,000
S % AU NEES WAZE BET  400,640,0008040.07+0.04545 4,526,600
O EEETEEE] 29.214.500
DY XD AT BEELD 1,422,640,0002+0.031996+0.6 27,311,000
DR AA(ZIRY) YLD 1,422,640,0002 0.002230+0.6 1,903,500
CEEEEEE 1,555,000
PTAI0B(1) YRS 31,400,000 %0.0495 1,555,000
CEEEEEE 1,076.000
PR AADH(1Y) BERYD 31,400,0002%0.031996 1,004,800
QTR HARIIRY) BETLa 31,400,000%+0.002230 71,200
EYTRATEEE 300.000
RAMNTE(1®) BE=ED 31,400,000%1+0.009548 300,000
EeTEnswHE 398,000
A DNBYE(1) BERHS 31,400,000%1%0.012650 398,000
EAZZAMTEEE 2.189.000
NALAATEE Bueea 343,860,002 +0.009548+8/ 12 2,189,000
EAZZADEREE 2.900.000
NABADBEE BERYD 343,860,0002+0.012650+8/12 2,900,000
EAZSAR LS 7.853.000
NAZARILEE BERED 343,860,000% +0.031996+0.6673 7,342,000
N2UA H2(EIIQY) HHLSLT 343,860,000 %0.002230%0.6673 511,000
WAIZSAROI0E 11,348,000
N2ZARNE BESED 343,860,000% +0.0495+8/12 11,348,000
CECEEEEE 1.827.000
ZYD® AYLY YL 80,000,000%0.0342260.66730 1,827,000
WEYWARNAZ 2.640.000
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80,000,000 %0.0495%8/12

80,000,000&#0.01265%8/12

80,000,0002+0.009548%8/12

74,987,000@+0.031996

74,987,000%%0.002230

74,987,000 %0.0495

74,987,000%%0.01265

74,987,000%%0.009548

350,000,000 *0.07%0.6

350,000,000 %0.07+0.04545

355,300,000 +0.031996+0.6

355,300,000 *0.002230

2,640,000

510,000
2.569.000
2,400,000

169,000
3.712.000

3,712,000

716,000
15,812.300
14,700,000

1,112,300
7.614.600
6,821,000

793,600

XNE ( whH|
2014201 &
"EENINLEE . . .
= ol B4 AR | s=387 24 (8)
4115
e 0 343,860 343,860 291,060 291,060

52,800

50,0002 %54 A 2tx153+251 |
45,0002 %72 A1 2t 15=+251 ]
42,000 %54 A 2tx153+251 |

42,0002 +3AI 2t 15=+281 ]

30,000+36H*15F+1.2

50,000 %362 %155+0.8

250,020.000

81,000,000
97,200,000
68,040,000

3,780,000
41.040.000
19,440,000
21,600,000

38.400.000




XE (wH )

AB U= 201422004+ 20132204 o
= (A-8) ¢ &=
& = ssasy | USR8 | YR () ssasy | oizay | YR ey

NECNEETE 30,0002 +40A| 2155 #2381 ] 36,000,000
OlSHE Alt2AAl BB 20,00081%15% +424%28t )| 2,400,000
WEMDSAAALE 14,400,000
HYDER AR 40,0002 121 2H1 554281 ] 14,400,000

gtl;’o@lﬁ 0 4,800 0 4,800 4,400 0 0 4,400 400
msEo = 4,800.000
s S8R0z N 700,002 ¥251 %231 ] 2,800,000
siow swaoz 500,000 %1 4147} 8t 2 2,000,000

f_jgg&g 0 9,496 0 9,496 2,828 0 0 2,828 6.668
O EEEE! 9.496.000
EEEREE 2,847,0008+1 % 2,847,000
D 5N2(49) 1,662,250 +42] 6,649,000

g]mggam 0 79,787 0 79.787 88,489 0 0 88,489 8,702
CESTET 79.787.000
£ 9IAHI(0IZ) 1,662,300 +1 22 +42 79,787,000
eI 1,609,750 128 %0 0

e s 0 0 0 0 6,500 0 0 6,500 6,500
DESTIET 0

o s 0| 1.665.154 0 1,665,154 | 1,682,235 0 0 1,682,235 17,081

i@am 0 763,380 0 763,380 695,043 0 0 695,043 68,337
CECEL 763.380.000
EXTOI(2,01 7], BT ) 5,304,58021+128 63,655,000
HAZ0(IE) 24,128,450 %292 699,725,000

‘gézgmg 0 387,217 0 387,217 347,782 0 0 347,782 39,435
CEEPYVE! 387.217.000
=3 8012 5,304,500l /2+12% 31,827,000
2 A0B(IE) 12,254,83021%29% 355,390,000

‘gé3,ﬁ,g¢% 0 246,203 0 246,203 240,754 0 0 240,754 5,449
OEES P! 246,202,600
2% PR4g GF PRLY i},’é‘*ﬁﬁ;ﬂ%*m%““00'000% 22,920,000
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R 2014=20) 8¢ 201352014t .
= (A-8) ¢ &=
& = ssasy | USR8 | YR () ssasy | oizay | YR ey

ﬂ%;fgfﬁ#ﬁ}%&?ﬁfﬁ;g¢% 453,13021 292 +128 157,688,000
i§$%¢g(@“'§;’g§“A‘gy 614,0008%9% 5,520,000
RS RS 1,416,37021+298 1 3] 41,074,600
JIEETISE S8 3.167,00021+62 19,000,000

L. 0 126,118 126,118 125,667 0 0 125,667 451
CEENEEE 86.355.000
HNR AbsteiE R TeE 1,180,000,0008%0.07 82,600,000
X2 AT TAEA BASEE 1,180,000,000 %0.07%0.04545 3,755,000
CECEEE 26.949.000
N AAYLEE HEREZ2 1,180,000,000&+0.031996%0.66730 25,194,000
N AZ(RIIRY) wESLD 1,180,000,0002+0.002230+0.66730 1,755,000
O EEEEREE 5.986.000
HormR 2olei2 YEea 120,928,0002/%0.0495 5,986,000
WHRRANADE D 4,143,000
HAHA A YLD 120,923,0002/+0.031996 3,871,000
MM AA(HIQY) WHELS  120,923,0008%0.002230 272,000
W E A EE 2 1.155.000
HERA AU HE2LD 120,923,0002+0.009548 1,155,000
AN NSRS 1,530,000
AR D2wE HE2LD 120,923,00021+0.012650 1,630,000

gff&@am 0 122,123 122,123 212,046 0 0 212,046 89,923
CEEEET] 122.123.000
AR 12| Z) 23,340,0002 %42 93,360,000
Lo HR 0I2H|(]Z) 28,763,00021 %184 28,763,000

f1zs 0 3,200 3,200 4,810 0 0 4,810 1,610
ol EN LY 3.200.000
AT 22T ol2iy] 200,00081+88 254 J] 3,200,000

‘ggﬁmg 0 16,913 16,913 19,884 0 0 19,884 2,971
CECEEE 16.913.000
AR 5N (4%) 1,945,00081+4% 7,780,000
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AB U= 201422004+ 20132204 o
bt o ez
X - TET) = i - . = - -
o & = s=a9) I L o1 2 | s=38 | Jizan | WFHAR ey
3| A HA A
E P EEEREE 2,283,220 +4% 9,133,000
 emaiz 0 0 0 36,249 0 0 36.249 -36,249
CnERPE T 0
200
B, 238,068 | 1,665,443 1,903,511 | 2,022,944 1,440 o| 2024384 120,873
ey o| 709841 709,841 802,456 0 0 802,456 92,615
AN 0 58,500 58,500 170,220 0 0 170,220 111,720
OEpI eI 12,900,000
Rl vioon
e o= ) 350,000 %1294 2 4,200,000
SN S22 Al 2,000,000 +23] 4,000,000
(e ™O1&H DE 2/ TS R
AT
w0l
o s 200,0002%1294 2 2,400,000
ASAER AT A lr s
G e 2 800,0002+13] 800,000
UPSEE X DA 500,000 %370 £ 1,500,000
R0z 18,600,000
AST LI 300,000+1294 2 3,600,000
ASZ AE waBA 15,000,0008!1] 15,000,000
mabEorell 23,100,000
ASCIQ ZHBRI| 250,000 %274 4 500,000
PRI 300,000 +1294 2 3,600,000
2olp), 2DEI| MBIA 2,666,667 %3 8,000,000
N =L BA 8,000,000 13| 8,000,000
4z oERUHI(HBA, 42, 4 3,000,0008!+13] 3,000,000
CERE I 3,900,000
= QxHI oo
G 5me) 200,002 12942 2,400,000
SUNERABA -
ErTEET 1,500,0008+1 3] 1,500,000
el ol 162,927 162,927 144,212 0 0 144,212 18,715
CES PSR 136,024,000
CHBNES T2 A4 24,200,00021%0.12 2,904,000
SHDE)| Y SNEZ 400,00021+1294 2 4,800,000
AZEE SAEL H 2,230,00081x 122 26,760,000
NAEE ST=a Hot 6.880,0008+12% 82,560,000
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AB U= 201422004+ 20132204 o
: HISE | Li=fe . — Tussan | . (A-B) o8& 2
& = SE38A 31 A BHAHI(A) SS383 J128AH b B (B)
HE" SXI4 Aot 1,584,00081+12% 19,000,000
DEESIEV R 6.000.000
SDAR B4|(3500) 2l M L] 200,00021+30CH 131 6,000,000
WE AR B2 6.000.000
2AmEE 2ot 6.000,0008!+1 4] 6,000,000
CEBBEERS 10.700.000
o a2 s R 700,0002 %251 J] 1,400,000
2902 “21H| 300,000 %612 1,800,000
g‘\)wa% INEDING S2ABESHIH g 0000 2,000,000
HPSIEWPI 150,00021%10A! 1,500,000
UPS, gre8ta )l £ I 4ell 1,000,000 %25 2,000,000
o2e o A2 ZH4 1,000,00021 28471 2,000,000
CEEEPE 183.000
Her B 22| 36,6002145% 183,000
WEIHIEE 42 2.000.000
2;’5)}?% SUBOIEA K7 22 00 00010 2.000.000
CEEET R 2.020.000
M= 9 REJ|sA BUE 42 260,00081+23] 520,000
JIEA HIRIH LIR2H0H0] 48] B4 150,00020%10JH4 1,500,000
gésﬂ_ralm 0 34,400 34,400 37,150 0 0 37,150 2,750
CEEEI 19.800.000
DUA2014 o ST A 5,000,000 23] 10,000,000
DUEZ AlbIEe 4,000,00081+18] 4,000,000
DSl 2 ATy 1,000,00021+33] 3,000,000
2002 22 100,000 +83] 800,000
ZALDEY 500,000 %43 2,000,000
CEEE =Y R 400,000
ZATES U BASN LT 400,00081+13] 400,000
O ENPEEp R 400,000
HMSASE 294 2 B2z 400,00081+13] 400,000
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AB U= 201422004+ 20132204 o

: HISE | Li=fe . — Tussan | . (A-B) o8& 2

& = SE38A 31 A BHAHI(A) SS383 J128AH b B (B)
WEZLY 10.000.000
DHEHTA 100,00021+201%1020 %2942 4,000,000
DUHHERY 100,0008+201+521+3 7 2 3,000,000
DUEZHA 50,00081%1091+22 37 2 3,000,000
WEZX R 1,800,000
ZAT WL 600,00081+33] 1,800,000
WEZ R 2,000,000
ZATHHIE 500,00081%43] 2,000,000

i\zl;ga " 0 266,115 266.115 272,894 0 0 272,894 6,779
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Sl & S dsE saFL
mAHZAH|

POIAHIAIAS (21, 2HAH, HEH23H2,
AEIISAEZE) AMER
2HEHeA(3Y)

mIIEtAIE 2]

10,166,667 *1201 &

6921%45,000 /2 +22+23|/ 4

2,800,000 *12&

5,200,000 128

300,000 %14}
3,000,000 *14]
300,000 %14}

1,720,400 1204 &

750,000& %53

720,000 120 &

500,000 %13

600,000 %13

1,200,000 %13|
5,000,0002 138l

700,000 «1CH

123.080.000
122,000,000
1,080,000
99.600.000
33,600,000

62,400,000

300,000
3,000,000
300,000

20,644,800
20,644,800
3.750.000
3,750,000
8.640.000
8,640,000
8.000.000
500,000
600,000
1,200,000
5,000,000
700,000

2,400.000
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A= 201420} & 201320l & ——
=4a =
&= 2
. - HISE | W= . - _ wsA |, (A-8)
8 = s=237) ol B4 B(A) s=28 | 123 g4 #3(B)

SE2+ 293 HAH| 1,200,000 *23] 2,400,000

4216

oz 0 18,850 0 18,850 16,620 0 0 16,620 2,230
mIHEES 2,200,000
HA SSE2E2(11015) 1,000,000 «H 1310 1,000,000
NOBE SSLEI(MITY) 1,200,000 413 1,200,000
msHE2E =S 16.000.000
A2 FMES (22, TAH 2 IS A o ~
ZHBAY 16,000,000& *= 13| 16,000,000
m#MALHS 50,000
JbAAD HH A B EE 50,0002 *13| 50,000
mOIEIEE S 600.000
SIHBAHENEY BESEE 300,000&*2Hx14 600,000

4217

P! 0 148,229 0 148,229 143,940 0 0 143,940 4,289
mS/Wetoldl Al = 60,317,000
MS HME= CA 2loldA HIE 21,000,000 14! 21,000,000
V32l 55 c2lo|dlA I 19,979,000 1 Al 19,979,000
SHAQIUIA 20ldA HIE 10,560,000 1 4] 10,560,000
QEX ZIoIMA HIE2 1,650,000 *14] 1,650,000
HgAH 2tz 7,128,000 14! 7,128,000
mAELI|IAU2 5,600,000
STHFI(6M)LUES e 520,000 5014 2,600,000
CEESD| LA LdUHE Al 500,000&*6CH* 1 3,000,000
CPG=E1PNE= 77,560,000
SMAESEHA XY2 5,800,000 »8 1L} 46,400,000
WEAMALAl AtSAUZ 500,000& x102] 5,000,000
SRS RA) 2A2 2,180,000 x12% 26,160,000
mEADLUZ 4,752,000
SAD| AH2(30H) 132,000 *30 128 4,752,000

4219

SEEER 0 20,820 0 20,820 17,420 0 0 17,420 3,400
mOHHEHAEX B2 12.000.000
JIEtNI S S 2 ZX8 Xl 7,000,000 14} 7,000,000
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A" a= 201422004+ 20132204 o
= (A-8) ¢ &=
& = ssasy | USR8 | YR () ssasy | oizay | YR ey

SEENE Ba 1,500,00021%241 3,000,000
2RY 2 BHL UNE SHDH AT 00 0000100 2,000,000
CEPCEETR £.820.000
DU M| E2RE 2 2,5002+280 %62 4,200,000
DU SEA SR P 31,0008 #2082 A6} 2 3,720,000
JlE BASE 2| 450,00081%23] 900,000

o ol 238,068 471,646 709,714 747,561 1,440 0 749,001 -39,287

gﬂm%m 0 46,240 46,240 59,312 0 0 59,312 13,072
CEN B 17.140.000
Hers i LeE D 100,0002%603] 6,000,000
SR, HENE ASEEER 500 000412 3,600,000
QUAZR DDELL2(SALZANEZH 100,00025603] 6,000,000
SHIIA ERUI(NHLEX2 S 12,00021+1081+122 1,440,000
NSesA AT ER 100,00081%1 4 100,000
CENREE 4,500,000
NoSe sAS oist DREJ ERG 100,000205392 3,900,000
YRS B0 BRI 200,00024+38] 600,000
CEFIEEES 21.000.000
DE HALRA EHHI 2,000,0002+32] 6,000,000
SHDEY Y2 =XS i 5,000,000 #33] 15,000,000
WAL RS 600.000
2T NS S (RN 20,0002+203| 400,000
22T NLBE (=8 2F) 10,00021%208] 200,000
CEECEREE 3.000.000
HA SH2(1015) 80,0002 #1281 TH 960,000
AP 2lA) SHE 100,0002 %128 1,200,000
UoE T SHE(44365) 60,0002 +128 720,000
ToE s SH2(87595) 10,0002 12 120,000

o 0 43,965 43,965 47,638 0 0 47,638 3,673
CEEEE 32.010.000
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24,000km*122+2,2008 /0
8.8km
22,000km*122+1,9008 /0
9.1km

21,600km*122+1,9002 /3km

21,000km*122+1,9002 /£ 8km

500,000 %14}
1,000,000 %141
4,800,000 *14]
3,000,000 *14]

1,000,0002 %1 4]

10,000&+12&
10,000& 128
10,0002 +12&

10,000& 122

25,000&+122
25,00021%53]

40,000%53!

100,000 %14

100,000 *1 4]

100,000 *1 4]

100,000+ 14!

50,0002 +H23]

50,000 *138]

12,000,000
5,000,000
12,160,000
2,850,000
10.300.000
500,000
1,000,000
4,800,000
3,000,000

1,000,000

100,000
100,000
150.000
100,000

50,000

4223

255

XNE ( whH|
2014201 &
"EENINLEE
s A
0 42,854

]

DAEM SADIEH 2L

600,000 *43]
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HE D2 201420} & 20135304t .
= :—EB) &4 s 2 A
= 2 ssasy | USR8 | YR 24(A) ssasy | oizay | YR ey (
StNAEMBAEYH P2H| 100,000 *6CH*13] 600,000
;}&%EI% BIRE cte &l % el= 7 (502 %3,00001)+(40,000& *4 ) 310,000
ABIAIRE A2 EH| 4,000,000 *23| 8,000,000
mMEAMH2AD2EH 8.000.000
o2 EY P 8,000,000 * 14! 8,000,000
mFIIAASREE 3.500.000
i;i?/d%‘i;%af d2.2xs 350,000&*10& 3,500,000
mYESEALILEH| 1.700,000
A & OH Xl (6mm,DVD,CD) 300,000%25 0| 600,000
%\%%é{%/\f% L0013 BHE 2 250,000%284 7] 500.000
2ola T2HE ST 600,000&*1 4 600,000
mEMFIZ23H| 2.000.000
SN FH2ES P 500 *4,000 2,000,000
mMNEEAILEH| 1,200,000
2og T2HE ST 600,000& *24 1,200,000
mD|EtA 2 EH| 15,144,000
AMNEE J|72Y 50,0002 *15CH 750,000
MEA A2 13,500 *108H 1,458,000
HilgtCH 2 RI(844!) 3,500 *168H 588,000
AMEIISAH S A gHE2IPY 5002 *x954 x4 *33| 570,000
g & A2g UEE APEH| 500,000& %25} 1,000,000
AR BXISE HEH 2002 10,0008 2,000,000
SA HAEERY 80,000 * 14! 80,000
oL iy SRS i) 2,000&%2,000% 4,000,000
JIEF 243tE =] 120,000& *104! 1,200,000
2E D201 M| 20,000&*105 200,000
HE M2 A2 10,0003 1204 & 120,000
oo 2|22 gl w & 100,000 *1 4] 100,000
SABIE 7 L SEHIE 6602 *5000H1 330,000
MED 43 2 3,000&*30= 90,000
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A" a= 201422004+ 20132204 o
= (A-8) ¢ &=
& = ssasy | USR8 | YR () ssasy | oizay | YR ey

sa HEA 2 150,800 1074 1,508,000
ERENIE 10,00021+65H 650,000
4 oz 22 50,0002 1074 500,000

PP, 0 6,973 6,973 7,608 0 0 7,608 630
(W3 2 4101 44 ] 800000
SHZ 2 AE HOIA HIZ (5,0008%1005)+(500 *60004) 800,000
W A R = b 2.973.000
BAA 2 2AES TN = Hb (*11%,;?0%*1oa*zgh(zs,ooo% 200,000
HIA HEA =A D T2 6500242515 13,000
2AE DEND =AY MY 5,00021+8052+13] 400,000
FEEEEE 80,0002 128 960,000
e =AY HIE 20,0008+102 200,000
RAEIE DA H=H 10,00021%20% 200,000
R EER e 3.200.000
PANS, YHWSDEND HA 20,0002 10942 200,000
crolofel M=l 20,0002 1505 3,000,000

N 0 58,800 58,800 73,800 0 0 73,800 15,000
O 58,800,000
cere e 1,2002+49,000L 58,800,000

%2;2&5; 237,918 175,126 413,044 422,888 0 0 422,888 ~9.844
wWEIIZ 413.044.000
=as nss 7,000,008 %1270 84,000,000
=2E HOIEE(S) 2,900,002 #5742 14,500,000
=as ses 500,00081%12742 6,000,000
JN=A DEE 5,000,0002 1212 60,000,000
IS A AOFEE (2 18,500,008 +6712 111,000,000
INEA M 580,000+ 12742 6,960,000
cHZ DES 5,000,0002 12712 60,000,000
THE HOIEE(S) 1,500,000 +57H 2 7,500,000
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AT x2H 500,000 %28 1,000,000
Hezo 22 22N 2,50021%20074 500,000
gE(HY, Z2F) ST 42 A3 5000,0008+28] 10,000,000
iiiﬁlﬁf U= SUSUENER 5 500 o00gix3l 10,000,000
SoxA, OFRX, UMM AIDIK 1,000,00081+12% 12,000,000

zg;z%%m 0 10,100 0 10,100 9,600 0 0 9,600 500
CEERER 7.500.000
=2 ol DR 500,00081%1 2 500,000
Nose Az e DS &M 275,00021+208] 5,500,000
Bols) =2 MOIL 2 o4 &I 500,00021+33] 1,500,000
RS 2,000,000
PEEEERE 2,000,00081#1 3] 2,000,000
CEERET 600,000
YEDS EIH 200,00081+33] 600,000

S 0 0 0 0 12,630 0 0 12,630 -12,630
CEEEER 0

AR, 0 49,800 0 49,800 48.460 0 0 48.460 1,340
ONPEE 1.000.000
2201280 @ WY 43 1,000,00021+13] 1,000,000
CEEEEER 47,400,000
=% geamy 20,000,000 1 20,000,000
SEE R 2,400,000 %14 2,400,000
DENBHE SRy 2,400,0008+1 2,400,000
f‘%;‘?@ SELeMR=R G2RT 550 0001 w0 1,600,000
SDESE ASDESE REFY 800,008 1Hx22 1,600,000
st E e 800,00081%1 14 800,000
CAHBE gy 500,000+ 500,000
JNHENY e 800,00081%1 4] 800,000
A gexmy 800,00020+112 800,000
eV R EE 800,00081%1 4 800,000
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N e 800,0008+1 800,000
MNEBEIE gy 500,0002+1 500,000
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ORI ROIHEYE) GRETHY  200,0002+ 122 2,400,000
=20IEENY) gesaY| 800,0008+ 1 800,000
WY REEOIEERE) gexa 800,000 +12 800,000
2203t gexw| 50,0008+ 1 500,000
TSV 500,000 1 500,000
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R 800,000 +1 800,000
CEEEEES 1.400.000
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4%2;55‘ 0 236,600 236,600 256,983 0 0 256,983 20,383
CEnE 107,000,000
olE % OjelEe 2 8,750,008 +43] 35,000,000
£2 OZAl 9A 292D 5,500,000 122 66.000,000
DSt (S4/BMDSR) S DEBD  6,000,0008 6,000,000
WA 72,300,000
S A/EA Bt s E 2 erat sl 8,000,000 23] 16,000,000
N IR En] 6,900,000 #1 41 6,900,000
EBS 451 21 5,000,0008!+1 3] 5,000,000
AHTRE BD 4,000,0002!+13] 4,000,000
WxXIJIEE 20 6.600,00021+1 ] 6,600,000
2D M ED 12,000,000 %1 4] 12,000,000
E20IMS DD A HHE 4,400,000 23] 8,800,000
EBS I4SAI0IE 22tol 3D 8,000,0008+13] 8,000,000
TIBYS BHLHZD 5,000,00081+1 4! 5,000,000
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JgE-sdg 1,500&*1,0004 1,500,000
2MNSEH 2 stw J|1E83 M 50,0002 *309H 1,500,000
m&mE2XASH A | 300.000
B 2T L HASHHAX £ 3,000 %100 300,000
mUBE EH| 700.000
DM STHE - b 3502 *2,000H*13] 700,000
mD|EtE 2 H| 12.300.000
MEWE 7 L olsHH| 75,0002 x12€ 900,000
22t FANEA 2 5,500,000 x14 5,500,000
Y& CIRODNY L S ES 4,400,000 *1 4,400,000
ZOCIAe DRl 1,500,000 * 1 1,500,000
;‘Z;BH‘ 0 2,600 2,600 2,650 0 0 2,650 50
M3 9 H| 2.600.000
st ol 23l 32| 400,000&%53] 2,000,000
HOIRME O 328l 200,000 %33| 600,000
gﬁzﬂ\ 0 59,060 59,060 21,170 0 0 21,170 37,890
[w] 2 584 ALHI 2,500,000
SR A 150,000& %35 450,000
P~ PSSRyl 2,000&%1008 200,000
OFLH & R &8 3,000& %3005 900,000
SUALE ZEHI(Z4=8H DAKI) 300,000 14! 300,000
HAIZZHI(BHL LHES) 50,0002 *14] 50,000
E-pI RS ES]] 300,000 14! 300,000
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Efggﬂ NEBE LS (160,00021*12!)+(140,0002+52) 860,000
SEy e 150,0002+35 450,000
ZHEHR 2,0008%100% 200,000
oL R I 3.0002 #4005 1,200,000
HAS SR8 DMT) 300,00081%1 4] 300,000
HASEH(EY YY) 50,0002 14! 50,000
HAZEH(CTE) 100,00081%1 4] 100,000
20} o1y 300,0008%14] 300,000
olibl 200,008 %241 400,000
(w22 B 8 AL 36.700.000
A (A AL, DI A4) NS AIT,500,0008! 1,500,000
2015 HAIDE A3 8,000,000 +1 41 8,000,000
ZZOIH YA HA 7,500,002 %22 15,000,000
HHY DAY TR SOhH A 1,000,00021+1 4! 1,000,000
DASEYSY B4 50,0002 4] 200,000
DamoinDey 2oy 5,000,0008 %1 41 5,000,000
DABAHOIL 28l 3,000,000+ 41 3,000,000
o= N 2atAe 2l 3,000,000 %141 3,000,000
CIEEE 16.000.000
2HDEEAS 98 M 2,000,00081 641 12,000,000
2nEE A M 1,000,000 %441 4,000,000
e 0 6,422 6,422 5,367 1,055

EER 2.667.000
Holes B E et 314,000+6310.8-500,0002! 1,007,000
e BUDLRRY 300,000 *631+0.8-500,000& 940,000
ig;ﬁcjg% Tati(ge 300,0002+351%0.8 720,000
WREEL 22 600,000
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WS © Al 8 AL 3.155.250
HE oS s A &0t Kt 30,0002 +70%+0.8 1,680,000
e EL L 350,000 +231+0.8-124,750 435,250
g&f;ﬁj;;iﬁg KT 000,0008%141%0.4 400,000
SHUONY ZYS DY) 300,00081%151+0.8 240,000
fi?gi‘ SHEMNBS(EMEWRZ 105 00021+151%0.4 400,000

;‘fgf’%g " 0 48,200 48,200 64,112 0 64,112
WA A 7.400.000
DAMSAAND(2RIR) 600,00081%1 18 D22 523 2,400,000
DAHSAMZ(URIIR) 50,0008 +424+23] 400,000
DATH N DS 50,0002 324 +23] 300,000
DA SH2HI(CHH) 50,0002 23] 100,000
LAHE AAE 300,000 +97H 5 D1 213 2,700,000
2AHE DELI 50,0002 +Q7H 8 T4+28 1 3] 900,000
2AE SR 100,00081%13| 100,000
Mezaz 500,00081+13] 500,000
WAL A 500.000
ERBA HASIAH 50,0002 +108| 500,000
molE 2 40,300,000
INEA OlZAIE 1007%9,0008! 900,000
INEA QESSA 23] 200,00081%23 400,000
TUDSE IE 22U L BA) 19,500,000 28} | 39,000,000

3,264,568 725,645 0 3.990.233 | 4,069,070 o| 4074070

P 125,758 0 125,758 122,664 0 122,664

Zgym 88,658 0 88,658 114,639 0 114,639
WAl D DI 10.000.000
M DYl o7 10,000,0002+1 2 10,000,000
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CERSE 68.657.900
{8l%, Q2= Al 38,657,900
2ysizEN 202 2 20| 2}+{E D215 15,000,0008 2 68,657,900
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CR/ESnE e 10.000.000
JIZED DU 5,000,00021 2% 10,000,000
4312 37,100 0 37,100 8.025 0 0 8.025 29,075
EEEET : : : : :
CEEEPESET 10,100,000
QALUTIT S XA 50,00081+63] 300,000
=2HE N 2,000,000 %108 2,000,000
St 8 ALEOLR 2| (150,000 +82)-+(800,000 +22) 2,800,000
St T 22 K 1,000,0002! 1 2 1,000,000
AOIEHZEE N b 2,000,0002 <2742 B 4,000,000
CEESER 17.000.000
GPEX IME| Y|
o |
SN 5,000,000 14! 5,000,000
9= T4 U2 U o D2 B
2 WEA2H H= 98 UIEX2HI(12,000,000 12,000,000
)
o RAS YT 2| 5,000.000
NEET 2 TR ] 5,000,000 %1 4] 5,000,000
ORI 5,000.000
AN EEH) 1,000,0002 +5% 5,000,000
i?fuomm 3,138,830 638,600 3.777.430 | 3,860,536 5,000 0 3,865,535 -88,105
4321
. 0 638,600 638,600 632,931 5,000 0 637,930 670
CEEEEE 578,600,000
. (1,650,002 x42 25t
Saxstz )
=8 71)+(500,0002 x22) 14,200,000
Nezmzsye gz 1,000,000+5% 5,000,000
opoleHTAB(RRE) 3,300,002 +92+25t 3] 59,400,000
20 mea 198 250,000,000 %28} 7| 500,000,000
CESIEEREE] 60.000.000
j2ensa(zENa) 30,000,000 5287 60,000,000
4322
- 2,971,970 0 2.971,970 | 2,729,270 0 0 2,729,270 242,700
ORI e 6.600.000
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mozmes 12.000.000
2zzaz(EIE) 60,000,0008x20% 12,000,000
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=0l ol AR (1,280)) (200,00021x3028 <474 2) 2 48,000,000
YRS MASB(ELEET) 600,00021x3&x281 ) 3,600,000
WAMEES £.000.000
SN NAET B3 150,002 x501+874 2 6,000,000
CREEEE 1.800.000
zemaa(MUNEUE) ey 1) (200,000 1,800,000
CEEEES = 30,000,000
seleirmas 3,000,008 +1088+13] 30,000,000
CEE R e 37.800.000
JNEFHATOIR 18, B2 12) e el s.5002 21,000,000
AREETIOIZ 12) ((7.000& 211 281 71))x1,200 16,800,000
mEAEE 2 4.000,000
S (100,0008+202)+(200.00081+10 4,000,000
mWUESENES 4.800.000
NBRBIN ERE0 B3 30,0008 4881221 4,800,000
CESII-EE 108.700.000
HesiAy maa(e T saus) ([ 500-0008:55)(1.400,0002 16,000,000
MS I A a3 (S 2 ael) 10,00021+102 % 1,000,000
DN HBNBSHEN BHD) e 38,700,000
M A ZEHB(ITAE) 50,0008 421 +42: 3 8,000,000
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2O DAFSZANHS R SRZ) 1,000,000%102 10,000,000
moloimea 150.000.000
FEEP] 375,00021+200% 23} | 150,000,000
eI e 60.000.000
EES e 500,000 %602 %251 7] 60,000,000
CERESEe 36.000.000
SMEDESD 1,000,00021%1824 %251 7| 36,000,000
CREEEE 18.000.000
Ariae JleEea 500,000 %132 %2517] 18,000,000
CREEE 1.149.400.000
%g’f;gi‘@i‘g(%a%Egag 3,300,00081+1742817| 1,148,400,000
HD4s 952 2l 1,000,00021+18 1,000,000
CEEEEN 1,028.600.000
HEH LS S(100%) g%g%%g%%%ézé?g iy - 944,400,000
HEZ 2R B(70%) (3.300,0002 102 +2871)+0.7 46,200,000
HEfZ2 RS 2(50%) (3,300,0002 10281 71)+0.5 33,000,000
fwCH 3 2 31 ] 24 o 242,270,000
UBHTYSIR YA S SHI2EH(100%) 3,700,0008+4%+251| 29,600,000
UBHOIEHR THBHAL BHHI 2 (AIAI70%)  3,700,000%0.7+1 12#281 0] 56,980,000
UBHOISHR THBHAY BHHI2HDH(BAIS0%)  3,700,00040.5+402 %281 0] 33,300,000
Lutee cay spa AR o 00000 O 98,240,000
UBITHSR AR SHI2E (A O e e o) 16,650,000
Siz‘am 1,000 0 0 1,000 1,000 0 0 1,000 0
Was s 1.000.000
2Q0l AES HE AB A 500,000 28| 1,000,000
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CEEpet 7.000.000
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M2l xR (SHTS ) 300,0008 + 23| 600,000
AATE, DSRASE 70 100,000 * 4742 400,000
CEREN R 29.080.000
ZolAlg SA2 KR 90,0002 50 4,500,000
SMERI(ZLH) X B) 50,0002 +40024+0.3 6,000,000
FEVEREER 20,0002 +40024+0.3 2,400,000
=2 o ez 1,000,00021+251 231 | 4,000,000
AYMoeIAE0IE B 70,0001 #1 742 12,180,000
CENELEDE 2,100,000
Sofel WEHA KA 500,00081%23] 1,000,000
easoel 2SN (500,0002!*1€1)+(300,0002 +2&) 1,100,000
CETO] 23.940.000
(2500215142 *341x302 x4} 2
=0l st At +0.7+2,50021 %10 +341 +30A1 x27H 23,940,000
240.7)52817]
T 8.000.000
ST XIS 2l 200,000 25128 7] 800,000
S o Cfste StAXISHI HHE o 16,0008 #4258 6,800,000
e I e 16,00021%252 400,000
WEs s KA 2.500.000
e E R 600,000 %251 7] 1,200,000
Zatusl e apisl NS 500,000 %28 7)| 1,000,000
R B LEL| 300,00081+13] 300,000
CEREPET 1.200.000
S 70 1034:30,00081+8 7% 470,000
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